

                                1-20 Multiple Choice Questions
	1. 
	Which of the following storage media does not allow random access of data?

A. RAM

B. ROM

C. CD-ROM

D. tape

E. hard disk 
(1997 MC No.1)


	The access mode of tape is sequential access, which does not allow random access of data. 

∴ The answer is D.



	2. 
	Computers on a local area network can be connected in the form of a 

  (1) bus network

  (2) ring network

  (3) star network

A. (3) only

B. (1) and (2) only

C. (1) and (3) only

D. (2) and (3) only

E. (1), (2) and (3)
(1997 MC No.2)


	The answer is E.



	3. 
	The integer -32 is the smallest integer that can be represented in a 

A. 4-bit two’s complement representation.

B. 6-bit two’s complement representation.

C. 7-bit two’s complement representation.

D. 8-bit two’s complement representation.

E. 16-bit two’s complement representation,

(1997 MC No.3)

	In 6-bit two’s complement representation, the smallest number can be represented is:

-25
= -32 

24= 16
-23
= 8

-22
= 4

-21
= 2

-20
= 1

1
0
0
0
0
0
= -32

∴ The answer is B.


	4. 
	In an encryption scheme, each character is changed to a new character such that

ASCII of the new character = (the ASCII of the original character – 30) X 2

After encryption, the word ‘AXE’ will become

A. FtN

B. dLz

C. ABJ

D. cTK

E. VWa
(1997 MC No.7)


	During encryption,

‘ A ’ ( ASCII’(65-30)x2’ ( ASCII’70’ ( ‘ F ’

‘ X ’ ( ASCII’(88-30)x2’ ( ASCII’116’ ( ‘ t ’

‘ E ’ ( ASCII’(69-30)x2’ ( ASCII’78’ ( ‘ N ’

∴ “AXE” ( “FtN”

∴ The answer is A.


	5. 
	Mr Lee has a microcomputer at home which contains a lot of computer games. To prevent his daughter from using the computer and spending too much time on computer games, Mr Lee can make use of a 

A. keyword.

B. key field.

C. check digit.

D. parity bit.

E. password.
(1997 MC No. 9)


	A password system can be set up, so that Mr Lee’s daughter can enter the program only when she has a correct user ID and password.

∴ the answer is E.



	6. 
	Which of the following input devices is most suitable for blind people to use?

A. a mouse

B. a joystick

C. a voice input device

D. a device for reading hand-written input

E. a touch screen 
(1997 MC No.10)


	The voice input device can convert a person’s speech into text, since it does not required touching the input device, so it should be more suitable for blind people to use.

∴ the answer is C.


	7. 
	How many bytes of data can be transferred at a time by a 16-bit data bus?
A. 1

B. 2

C. 4

D. 8

E. 16

(1997 MC No.15)


	1 byte = 8 bits

2 bytes = 16 bits

∴ the answer is B.



	8. 
	Which of the following is not a peripheral device?

A. keyboard

B. visual display unit

C. modem

D. random access memory (RAM)

E. disk drive
 (1997 MC No.14)


	Peripherals are devices that surround the system unit.

∵ RAM is part of the main memory.

∴ It is not a peripheral device.

∴ The answer is D.



	9. 
	Which of the following is/are reason(s) for connecting computers to form a network?

  (1) to share devices

  (2) to allow users to communicate with each other

  (3) to allow users to transfer data to and from each other

A. (3) only

B. (1) and (2) only

C. (1) and (3) only

D. (2) and (3) only

E. (1), (2) and (3)
(1997 MC No.16)


	The answer is E.



	10.  
	The maximum address (in binary) that can be held in 16 bits is 

1111

1111

1111

1111

0000

0000

0000

0001

1111

1111

1111

1110

0111

1111

1111

1111

1000

0000

0000

0000

(1997 MC No.23)

	The maximum address can held in 16 bit is 216 = 1111 1111 1111 11112 
∴ the answer is A.



	11. 
	AGE is a field of a database file STUDENT. AGE stores the students’ ages. AGE cannot be used as a key field of STUDENT because

A. AGE has to be updated every year.

B. AGE is a numeric field.

C. AGE can be replaced by date of birth.

D. different students may be of the same age.

E. Students with the same name may be of different ages.

(1997 MC No.24)


	Key field should be unique for different students.

∴ the answer is D.



	12. 
	If X=4, what is the output of the following algorithm?

Assign zero to S

While S is less than X, do the following:

Calculate Y = S + X/2 +1

Assign the value of Y to S

Output S

A. 2

B. 3

C. 4

D. 5

E. 6

( 1997 MC No.27)


	First time running the loop:

S=0, X=4, Y=0 + 4/2 + 1=3, ∴S=Y=3 

Second time running the loop:

S=3, X=4, Y=3 + 4/2 + 1=6, ∴S=Y=6 [end of the loop]

∴ the answer is E.



	13. 
	Which of the following computer applications must involve the use of personal data?

A. a computer assisted learning program

B. a payroll system

C. a computer game

D. a computer simulation

E. an electronic bulletin board       (1997 MC No.29)


	The payroll system require some personal information from the worker to work out the payroll sheet, such as name and the working hours.

∴ the answer is B.



	14. 
	In a certain computer, integers are represented in 4-bit two’s complement form. overflow error will occur in the calculation of A + B if

A. A = 0110 and B = 1100

B. A = 1110 and B = 0101

C. A = 0011 and B = 0110

D. A = 0001 and B = 1111

E. A = 0001 and B = 0011                            
(1997 MC No.30)
	The largest integer can be represented in 4-bit two’s complement is 22 +21 +20 =8 and the smallest integer can be represented is -23=-8. the number which out of the range -8 to 8 will cause overflow error.

For (A) : 6 + (-4) = 2  For (B) : -2 + 5 = 3

For (C) : 3 + 6 = 9     For (D) : 1 + (-1) = 0

For (E) : 1 + 3 = 4 

∴ the answer is C.

	15. 
	Below are different stages in a data processing cycle:

1  input of data

2  processing of data

3  collection of data

4  collection of data

5  output of information

Which of the following gives the correct order of stages?

A. 3(1(4(2(5

B. 3(1(2(5(4

C. 4(1(2(3(5

D. 4(3(1(2(5

E. 4(1(2(5(3                                  
(1997 MC No.32)


	The answer is D.



	16. 
	Suppose the format DDMMYY is used to represent dates (i.e. a date is represented by a string of six digits in which the leftmost two digits give the day, the middle two give the month and the rightmost two give the year).
Which of the following is an invalid date?

A. 070696

B. 210809

C. 300330

D. 022188

E. 110986                                       
(1997 MC No.35)


	Since we only have 12 month, ∴ the digits representing the month no. should lie on the range 1-12.

∵ the month no. of choice D is 21

∴ the answer is D.



	17. 
	program Q36;

begin

  writeln(ord(‘B’))

end.     
A. 42

B. 64

C. 66

D. 68

E. 98                                            
(1997 MC No.36)
	ASCII code of ‘B’ = 66.

∴ the answer is C.



	18. 
	program Q37;

begin

  writeln(trunk(2.581*10+1))

end.
A. 21

B. 25

C. 26

D. 26.81

E. 27                                            
(1997 MC No.37)


	2.581 * 10 + 1 = 26.81

trunk(26.81) = 26

∴ the answer is C.



	19. 
	program Q38;

var A, B:integer;

begin

 A:=14;

B:=7;

If A<B

  then writeln(A, ’<’, B)

 else writeln(B, ‘<’, A)
end.
A. 7<14

B. 14<7

C. A<B

D. B<A

E. B<14                                            
(1997 MC No.38)


	∵ A > B

∴ the output is 7[B] < 14[A]
∴ the answer is A.


	20. 
	program Q39;

var k:integer;

   a: array[1..20] of integer;

begin

  for k:=1 to 20 do a[k] :=k*2+1;

  for k:=2 to 20 do a[k] :=a[k-1]+a[k];

  writeln(a[5])

end.
A. 11

B. 13

C. 20

D. 24

E. 35 
(1997 MC No.39)


	Run the first loop

Run the second loop

k

a[k]

k
a[k]
1

2

3

4

5

…

a[1] = 3

a[2] = 5

a[3] = 7

a[4] = 9

a[5] = 11

…
2

3

4

5

…
a[2]= 3+5 = 8

a[3] = 8+7 =15

a[4] = 15+9 = 24

a[5] = 24+11 = 35

…
∴ the answer is E.


